Effectue les expressions suivantes en notant toutes les etapes. Contrdle les résultats.

L. “4qy - 9qy - qy = -l4qy

2. 4{6¢c¢ - 2) = 24c? - 8

3. -8C.(-6).(-7c) = -336¢4

4. -3(9x ~ Ty) = -2Ix + 21y
5. 8gx + gx - 3Qx = 6Qx

6. -9¢c.(-7¢). (-7 = ~441¢3

7. -4ab - ab - 4ab = -9ab

8. 2(7a + 5b) = l4a + 10b
9. -2(-x - Ty) = 2X + 14y
10. 5.4 .(-q) = ~-20q?

11. 8dx - 10dx + 7dx = 5dx

12. -5p . {10 - g) = -50p + 5pq
13. -4(-c + 2d) = 4¢c - 8d

14, p.2q-= 14pq

15. -X .y = - XY

16. 3x + 3x - 5x = X

17. -3p . (-7p). (-7p) = -147p3

18. -4p .9 .p = -36p?

19. 5pf - p?y - 5p?y = =TIey

20.  -5a.10a.(-7a) = 350a?

21. 2{-6b%x + 6) = -12b%x + 12
22. Tdx - 6dx - 2dx = -dx

23. -2p.8p.5p-= -80p3

24.  8cq +be+2cq - 6bc+ 10cq + 8bc = 3bc + 20cq
25. 5b*p + 7b*p + 10b%p = 22b%p

6. 3p’q + 4pq? -2p?q? - 2p?q - 5pg? = p°q - 4pq? -2p2q?
27. 8c.(-6d) = -54¢d

28. 2Q.z.4s = 8Q5sz

29. 3d-(-2d) + 9d = 14d

30.  7jk - (-jk) - 4jk = Lik

31. 3q-(-4q) - 6qg = q

32. -d -Sa - 4a+4d - 7a - 5d = -20a -2d
33. -P.(-3).,8p= 24?2

34. 5dy - dy - 5dy = -y
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35 =X 5 8% . 2K = -16x*

36. 10¢e . (~c} . 3¢ = -30c*

37. -8d¢.(-d).(-d)= -8d*

38. -2x.6y+ 2xy = - 10xy

39. 3x.3y - 4xy = SXY

40. -p . (-5q) + 6pg = 11pg

41. 6x . (8x + 3y) + 2xy = 48x4 + 20xy
42, 4(3a-1)-7a-2 = 5a -6

43, 3(7x + 10y) + 8x = 29x + 30y
44, -{X.(6 - 9y} ~ 2x = ~44x + 63xy
45. ~a.{(-3a-5b)+7b.(-7a + 9b) = 3a% - 44ab + 63b2
46. -(9a - 6b) + Ta = ~2 + 6b
47. -Op+9g-1)+8g-7-= -9p - g - 6
48. 10.(9p-T7g)+5.(-2q + 6p) = 120p - 80q
49. T7(-7Ta - 9b) + 6qa = 430 - 63b
0. -8a3. (-3a?). 5a = 120qa°

21. -5a.10a.(-7a) = 350a?
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5(7b3 + 9) + 4b3 - 5 =
7d3 + 4d? - d3 - 3d2 - 2d3 =
-5.(-Tp - 4q) - (-2 + 10p) =

9(-8p + 6qg) + 9p =

-5cd . (-3d3) . (-9¢)
10.(-2p+7q) - 9.

3X .3y - 4xy =
2{-6b’x + 6) =

~7(-6py - 2) - py =

7dx - 6dx - 2dx =
-2p . 8p . 5p =

8cq + bc + 2cq - 6bc + 10cq + 8bc =

(-9qg + 9p) =

Sbép + 7bp + 10b*p =

7ik - (-jKk) - 4jk =

3p‘q + 4pq” —2p?q? - 2p?q - 5pg? =

9c . (-6d) =

-8c.(-c + 6d) + 9cd =
6(-6k + Tw + 4) - Q9w — 9 =

8{fs - 2) - 9fs =
29 .2.4s =
3d - (-2d) + 9d =

=X . (=3% = 4y) - 9xy =

9(d? - 5)-d? =

-{(5¢ - 4) - 4(-8¢c - 1) =

3q - (-4q) - 6q =

~d -9a - 44 + 4d -

-p.(-3).8p=
—2X . 6y + 2xy =

fa - 5d =

-(-x + 5) + 8 - (-8) =

5ay - dy - 5dy =
-8d?¢ . (-d) . (-d) =

2(-9d - 6) - 5(-5d + 6) =

“7(3¢°% - 3) + 6Q°y =

-C.(-2¢ - 8d) - 5cd =
~(-3x+ 10y - 7) -3y - 7 =

52 . 4q.(-5q) =

-5(-4a? - 8) - 6(6a% + 1) =

2.(-6c+10d)-5.(-2d - 6¢) =

9b?.b.8b =

-9a.(6 + 6b) + 10a =
6(8p% - 4) - 2(-p* - 5) =
-3(3c+ 5) - (7c+ 2) =

4p . (2p +q) - 5q9.
-5p . (=5q) + 6pq =
-2 . (-6x + 10y) - 7 . (-x + 8y) =
_4)2

4(-7a + 6) - {(-5a

(3p + 3q) =

2x . (X + 4y) - Ty . (8x - y) =

39b3 + 40
43 + d?

25p + 20q + 2
-63p + 54(q
~-135c¢* d*
-101p + 151¢
XY

1. 2h% 4+ 1.2
41py + 14
-dx

-80p3

3bc + 20c¢q
22b%*p

4k

P?q - 4pq° ~2p’g?
-54cd

8¢ - 39cd
-36k + 33w + 15
=18 # 16

8qsz

14d

3x% - 5xy

8d3 -~ 45

27c + 8

G

-20a -2d
24p?

- 10xy

Ux * 3

~dy

_8df+

7d - 42
-57g%y + 21
2¢s + 3cd

3x - 13y
~100q*
-16a¢ + 34
42c - 10d

[ 2b*

440 - 54ab
50p* - 14
=J6E = 17
8p< ~ 11pg ~ 15g2
31pg

19% - Ty
-230 + 28
2x? = 48xy + Ty?



